2~GA1EAC 2~Gatlh

L X & = s x & = 5 X & =
s x / = 7 x 7 = s x / =
7 x & = L X & = 5 x 3 =
S x 7 = S X 7 = {5 X &=
S X 4 = L X 3 = s x 7 =
5 x Q2 = ? x / = 4 x L =
§ x 7 = L X 4= 3 x 4 =
d x 3 = 7 X 2 = L X 5 =
S x & = 5 x 7 = 7 x & =
7 x & = & x5 = $ x 7 =




2~G A




2~GOIEhA Y 2~GA1EA

6 x 9 = 5 x 9 = 5 x 3 =
9 x & = 6 x 3 = 3 % 7 =
2 x4 = 3 X Q2 = o x & =
4 < 2 = 9 x 7 = 3 x 9 =
5 x & = 3 % / = o x & =
4 < 3 = 7 x & = 9 x 2 =
2 x 7 = 3 x4 = 2 % /=
2 x & = 2 % & = 7 x & =
o x / = o x 4 = o x 4 =
5 x4 = 4 x & = 7 x4 =




2~GOhA




2~GOIEhA Y 2~GA1EA

$ x4 = 6 X 7 = 7 X L =
7 X 7 = 5 x / = S x / =
7 X 2 = § X L = 5 x & =
7 x & = S x 7 = 7 x & =
s x / = 6 x & = 7 ox & =
5 x & = S x & = L X 7 =
s x 3 = S X 4 = 4 x Y =
7 X 4 = S x & = 5 X L =
L X 7 = R $ x & =
L X 3 = 7 X 9 = § x 7 =




